



June 9, 2025

Mr. Phillip Francis Asst. Superintendent of District Services Livonia Public Schools 15125 Farmington Road Livonia, MI 48154

RE: 2021 Bond Program 2025 Churchill High School (CHS) Furniture Purchase Recommendation

Dear Mr. Francis:

This letter transmits an update from Plante Moran Realpoint (PMR) as it relates to the assignment to assist and advise Livonia Public Schools (LPS) in its purchase of furniture for the Project listed above. This update represents the mutual efforts of PMR, NBS, and LPS administration and staff (the Team).

Coinciding with ongoing design efforts to renovate and reimagine LMC spaces as part of the 2021 Bond Program, the Team has identified additional counseling and department offices adjacent to the CHS LMC that are in need of refreshed furniture and storage to better utilize the spaces to their full potential and adapt to current usage.

The Team recommends awarding NBS Commercial Interiors to supply and install LMC furniture in an amount **Not-to-Exceed (NTE) \$135,000.00** as further detailed below and within proposal dated June 9, 2025.

<b>Total Recommendation</b>	\$ 135,000.00	
Contingency (~6%)	\$ 7,944.33	
NBS Proposal	\$ 127,055.67	

The costs for this purchase will be covered entirely by unused contingency funds from previous furniture purchases under the 2021 Bond Program.

For the Vendor, the pricing for this work will be detailed in a Purchase Order Agreement, pending final review and approval of terms by District legal counsel.

The Team is available at the Board's convenience to answer any questions regarding this recommendation. Please direct all questions through me via email at <a href="mailto:brian.weber@plantemoran.com">brian.weber@plantemoran.com</a>.

Sincerely,

PLANTE MORAN REALPOINT

Jan Well

Brian Weber

Senior Vice President

**Enclosures:** 

Vendor Proposals

Product Information & Layout





yourNBS.com

Remit Payments to: NBS, 6973 Reliable Parkway, Chicago, IL 60686

**Expiration Date Account Representative MONIQUE DUGAN** 

Quotation 388589

**Quote Date 06/06/25** 

Terms NET 10 DAYS

**Customer Order** 

Project 250318 Customer L00002

## **Quote To**

Katrina Villasenor Livonia Public Schools 15125 FARMINGTON RD LIVONIA, MI, 48154-5413 Ship To

HARRY LAU Churchill High School 8900 NEWBURGH RD **DEPARTMENT OFFICES** LIVONIA, MI, 48150-3425

Phone +1 (734) 744-2584

ap@livoniapublicschools.org

Phone +1 (734) 744-2537

Cell +1 (734) 812-8597

hlau@livoniapublicschools.org

Sales Location Troy

This quote is valid until June 12, 2025. Steelcase & Exemplis/SOI are having price increases on June 16th - this quote does not reflect this increase. A PO would need to be received by June 12th at 5 pm to receive the pricing shown on this quote.

Product ordered before the price increase must ship by Sept. 13th - storage has been quoted if product needs to be stored to accommodate this deadline.

The following contracts have been utilized for pricing on this quote: E&I 21Z00987 & Omnia R191814

PO required to place order. Please reference NBS quote number on your PO.

Quote includes non-union straight time labor for NBS to receive, deliver and install; any owner requested changes requiring additional delivery trip(s) will result in additional charges to be quoted separately.

Receipt of PO indicates owner approval of product as specified; upon release of order, no changes, cancellations or returns can be made.

The prices quoted are based on current governmental laws and regulations. In the event of any changes in laws, regulations, tariffs, taxes, or other governmental mandates that increase the cost of goods, materials, or services, NBS reserves the right to adjust pricing accordingly. Any such price adjustments will be communicated in writing.

Pricing does not include the removal or relocation of existing product.

Lead time: 10-12 weeks from receipt of PO.

ACCEPTED BY

Desci	ription	Quantity	Unit Price	Extended Price
CIC	ROOM			
1	BFR36 - Table-Round, 36 dia Edge Finish: PLASTIC 6709 - CLAY NOCE	2*	252.51	505.02
TITLE (	Top Surface Finish: LAMINATE FINISHES 2HCN - CLAY NOCE (HPL)  DE PRODUCT TRANSFERS UPON RECEIPT BY CUSTOMER.			

\_\_\_\_\_ TITLE \_\_\_



2595 Bellingham • Troy, MI 48083 • 248.823.5400 3201 Pine Tree Rd. Ste. A • Lansing, MI 48911 • 517.886.0072 5160 Alliance Dr. • Bay City, MI 48706 • 989.895.8574 4 North St. Clair St. • Toledo, OH 43604 • 419.662.2040



Quotation 388589 Page 2 / 13 (cont'd)

\_\_\_\_\_ DATE \_\_\_

yourNBS.com

Remit Payments to: NBS, 6973 Reliable Parkway, Chicago, IL 60686

Desc	ription		Quantity	Unit Price	Extended Price
1	STEELCASE				
	Tag For	CIC ROOM 36			
2	BFR42 - Tabl	e-Round, 42 dia	3*	280.60	841.80
	Edge Finish:	PLASTIC 6709 - CLAY NOCE			
	<b>Top Surface</b> (HPL) STEELCASE	Finish: LAMINATE FINISHES 2HCN - CLAY NOCE			
	Tag For	CIC ROOM 42			
3	<b>BX26</b> - Base-	X, 26W	2*	206.66	413.32
	Base Finish:	METALLIC PAINT 4799 - PLATINUM METALLIC			
	Column Finis	sh: METALLIC PAINT 4799 - PLATINUM METALLIC			
	STEELCASE				
	Tag For	CIC ROOM XB			
4	<b>BX36</b> - Base-X, 36W		3*	263.60	790.80
	Base Finish:	METALLIC PAINT 4799 - PLATINUM METALLIC			
	Column Finish: METALLIC PAINT 4799 - PLATINUM METALLIC				
	STEELCASE				
	Tag For	CIC ROOM XB			
5	2221FT1MB.I Armless Frame Inforn	USAR0 - Wit, Side, 4-leg, Mesh Back, Upholstered Seat, nation:	18*	261.12	4,700.16
	FC2: Silver F				
	Glide/Caster				
		loor and Carpet Casters			
	Wit Mesh Ba				
	MC21: Nicke				
		ather Upholstery Selection:			
		oric Grade Selections			
	~: No Select				
	FG2: Fabric				
		: Element Standard Color Selection			
		ement Ruby			
	Package Sel				
	~: Std Packa				
	Jiu Facka	9"'9			

\_\_\_\_\_ TITLE \_\_





Quotation 388589 Page 3 / 13 (cont'd)

yourNBS.com

Remit Payments to: NBS, 6973 Reliable Parkway, Chicago, IL 60686

Desc	cription		Quantity	Unit Price	Extended Price
5	Tag For	CIC ROOM WIT			
7		enny; Chair-Round <b>Finish:</b> BRISA BR26 - IRON	4*	1,115.85	4,463.40
	Leg: ALUMII	NUM LEGS			
	STEELCASE	<u> </u>			
	Tag For	CIC ROOM JENNY			
8	<b>TS34403</b> - O	TTOMAN-ALIGHT,BENCH	4*	440.32	1,761.28
	Upholstery	Finish: CUST OWN MAT 5999 - MISC FABRIC			
	Pattern: E Color: GF	r: VENDOR BIG DOT -3525 RAPHITE -804 HORIZONTAL			
	STEELCASE	≣			
	Tag For	CIC ROOM ALIGHT			
9	TS34403 - OTTOMAN-ALIGHT,BENCH		4*	440.32	1,761.28
	Upholstery Finish: CUST OWN MAT 5999 - MISC FABRIC				
	Pattern: S Color: ME	r: VENDOR SWIFT -8230 ESA -002 VERTICAL			
	STEELCASE	<u> </u>			
	Tag For	CIC ROOM ALIGHT			
10	N66RD22CL LAMINATE:	WHIMSY,22DIA ROUND,MOBILE,LAMINATE TOP	2*	757.47	1,514.94
	<b>G1009</b> : WH	ITE NEBBIA			
	UPHOLSTE	RY GRADE:			
	CFSF: CF S	STINSON GRADE F			
	<b>DIDI_73:</b> D	IDI CARBON			
	KIMBALL OF				
	Tag For	CIC ROOM N66RD22CL			

TITLE OF PRODUCT TRANSFERS UPON RECEIPT BY CUSTOMER.

ACCEPTED BY \_\_\_\_\_\_ TITLE \_\_\_\_\_ DATE \_\_\_\_\_



2595 Bellingham • Troy, MI 48083 • 248.823.5400 3201 Pine Tree Rd. Ste. A • Lansing, MI 48911 • 517.886.0072 5160 Alliance Dr. • Bay City, MI 48706 • 989.895.8574 4 North St. Clair St. • Toledo, OH 43604 • 419.662.2040



Quotation 388589 Page 4 / 13 (cont'd)

\_\_\_\_\_ DATE \_\_\_

yourNBS.com

Remit Payments to: NBS, 6973 Reliable Parkway, Chicago, IL 60686

Desc	ription		Quantity	Unit Price	Extended Price
Sub 1 MIC	HIGAN 6% T	TAX			16,752.00 1,005.12 <b>17,757.12</b>
H10	1 SOCIAL S	TUDIES			
11	With Casters Worksurface CLASSIC LIN Edge: 1 1/4in Edge Finish: MOLD Leg Finish: S	mental Table 24" Depth X 60" Width Nest and Fold,  Finish: Smith System Laminate 494360 - IEN LAMINATE Top w 3/8in Bmpr TMId Smith System T-Mold CHP - CHAMPAGNE T  Smith System Paint CHL - CHARCOAL  Adjustable Height  H101 SOCIAL STUDIES 24/60-EJ	10*	765.00	7,650.00
12	Armless Frame Inform FC2: Silver F Glide/Caster CS6: Hard F Wit Mesh Ba MC21: Nicke Fabric or Lea FABRIC: Fal ~: No Select FG2: Fabric ELEMENT	Selecton: door and Carpet Casters ck Colors: dather Upholstery Selection: bric Grade Selections dion c Grade 2 de Element Standard Color Selection dement Ruby dection:	20*	261.12	5,222.40
13	front, 24D x 3 BASIC: 4799 LOCK: 9201	F - Cabinet-Storage, 2 adjustable shelves, Flush steel 6W x 40H PLATINUM METALLIC POLISHED CHROME S UPON RECEIPT BY CUSTOMER.	5*	893.02	4,465.10

\_\_\_\_\_\_ TITLE \_\_



2595 Bellingham • Troy, MI 48083 • 248.823.5400 3201 Pine Tree Rd. Ste. A • Lansing, MI 48911 • 517.886.0072 5160 Alliance Dr. • Bay City, MI 48706 • 989.895.8574 4 North St. Clair St. • Toledo, OH 43604 • 419.662.2040



Quotation 388589 Page 5 / 13 (cont'd)

\_\_\_\_\_ DATE \_\_\_

yourNBS.com

Remit Payments to: NBS, 6973 Reliable Parkway, Chicago, IL 60686

Desc	ription		Quantity	Unit Price	Extended Price
13	KEYS: SK PL	UG			
	TOP OPT: *C	PT:TOP OPTIONS			
	STL TOP: S	TD:1" STEEL TOP			
	STEELCASE				
	Tag For	H101 SOCIAL STUDIES SC/40/36			
14	Flush steel fro	BF - Top-Common, Square edge profile, Laminate, ont, 23 1/8D x 108W Finish: PLASTIC LAMINATE 2HCN - CLAY NOCE	1*	516.70	516.70
	, ,	PLASTIC 6709 - CLAY NOCE			
	STEELCASE				
	Tag For	H101 SOCIAL STUDIES CT/23/108			
15	steel front, 23 <b>Top Surface</b> (HPL)	Finish: PLASTIC LAMINATE 2HCN - CLAY NOCE	1*	232.63	232.63
	_	PLASTIC 6709 - CLAY NOCE			
	STEELCASE				
	Tag For	H101 SOCIAL STUDIES CT/23/72			
16	<b>TS31409</b> - Je	nny; Chair-Round	3*	1,115.85	3,347.55
	Upholstery F	inish: BRISA BR26 - IRON			
	Leg: ALUMIN	IUM LEGS			
	STEELCASE				
	Tag For	H101 SOCIAL STUDIES JENNY			
17	N66RD36CL LAMINATE:	- WHIMSY,36DIA ROUND,MOBILE,LAMINATE TOP	1*	1,003.10	1,003.10
	<b>G1009</b> : WHI	TE NEBBIA			
	UPHOLSTER	RY GRADE:			
		TINSON GRADE F			
	DIDI_73: DII				
	KIMBALL OF				
	Tag For	H101 SOCIAL STUDIES RD36CL			
18	LOCKFR - FI	ELD INSTALLED LOCK PLUGS & KEYS, FR	5*	N/C	N/C
	Lock Finish:	Polished Chrome 9201 - POLISHED CHROME			
	Key: KEY SP	ECIFIC			
TITLE	OF PRODUCT TRANSFER	S UPON RECEIPT BY CUSTOMER.			
۸۵۵	EDTED BY	TITLE		DATE	

\_\_\_\_\_\_ TITLE \_





Quotation 388589 Page 6 / 13 (cont'd)

yourNBS.com

Remit Payments to: NBS, 6973 Reliable Parkway, Chicago, IL 60686

Descr	iption		Quantity	Unit Price	Extended Price
40	5.000				
18	5-320 STEELCASE				
	Tag For	: H101 SOCIAL STUDIES			
Sub T	-				00 407 40
	HIGAN 6% T	TAX			22,437.48 1,346.25 <b>23,783.73</b>
H110 MATH					
19	With Casters Worksurface CLASSIC LIN	emental Table 24" Depth X 60" Width Nest and Fold,  e Finish: Smith System Laminate 494360 -  NEN LAMINATE  n Top w 3/8in Bmpr TMld	8*	765.00	6,120.00
	MOLD	: Smith System T-Mold CHP - CHAMPAGNE T Smith System Paint CHL - CHARCOAL			
	-	Adjustable Height			
	SMITH SYST				
	Tag For	H110 MATH 24/60-EJ			
20	2221FT1MB. Armless Frame Inform	.USAR0 - Wit, Side, 4-leg, Mesh Back, Upholstered Seat, mation:	16*	261.12	4,177.92
	FC2: Silver F	Frame			
	Glide/Caster	Selecton:			
	CS6: Hard F	Floor and Carpet Casters			
	Wit Mesh Ba	ack Colors:			
	MC21: Nicke	el			
	Fabric or Le	ather Upholstery Selection:			
	FABRIC: Fa	bric Grade Selections			
	~: No Selec	etion			
	FG2: Fabri	c Grade 2			
	ELEMENT	: Element Standard Color Selection			
	RUBY: El	ement Ruby			
	Package Sel	lection:			
	~: Std Packa	aging			
	EXEMPLIS				
	Tag For	H110 MATH WIT			

TITLE OF PRODUCT TRANSFERS UPON RECEIPT BY CUSTOMER.

ACCEPTED BY \_\_\_\_\_\_ TITLE \_\_\_\_\_ DATE \_\_\_\_\_





Quotation 388589 Page 7 / 13 (cont'd)

yourNBS.com

Remit Payments to: NBS, 6973 Reliable Parkway, Chicago, IL 60686

Desc	cription		Quantity	Unit Price	Extended Price
21	RSC24365KF - Cabinet-Storage, 4 adjustable front, 24D x 36W x 65 1/2H BASIC: 4799 PLATINUM METALLIC	shelves, Flush steel	3*	1,104.34	3,313.02
	LOCK: 9201 POLISHED CHROME				
	KEYS: SK PLUG				
	TOP OPT: *OPT:TOP OPTIONS				
	STL TOP: STD:1" STEEL TOP				
	STEELCASE				
	<b>Tag For</b> H110 MATH SC/65-1/2/36				
22	RSC24363CF - Cabinet-Storage, 2 adjustable front, 24D x 36W x 40H BASIC: 4799 PLATINUM METALLIC	shelves, Flush steel	2*	893.02	1,786.04
	LOCK: 9201 POLISHED CHROME				
	KEYS: SK PLUG				
	TOP OPT: *OPT:TOP OPTIONS				
	STL TOP: STD:1" STEEL TOP				
	STEELCASE				
	<b>Tag For</b> H110 MATH SC/40/36				
23	RATCL2472F - Top-Common, Square edge p steel front, 23 1/8D x 72W  Top Surface Finish: PLASTIC LAMINATE 2H (HPL)  Edge Finish: PLASTIC 6709 - CLAY NOCE  STEELCASE  Tag For H110 MATH  CT/23/72		1*	232.63	232.63
24	TS31409 - Jenny; Chair-Round		2*	1,115.85	2,231.70
	Upholstery Finish: BRISA BR26 - IRON				
	Leg: ALUMINUM LEGS				
	STEELCASE				
	<b>Tag For</b> H110 MATH JENNY				
25	N66RD36CL - WHIMSY,36DIA ROUND,MOB	ILE,LAMINATE TOP	1*	1,003.10	1,003.10
	LAMINATE:				
	G1009: WHITE NEBBIA				
	UPHOLSTERY GRADE:				
	CFSF: CF STINSON GRADE F				
	DIDI_73: DIDI CARBON				
TITLE	OF PRODUCT TRANSFERS UPON RECEIPT BY CUSTOMER.				
ACCE	EPTED BY	TITLE		DATE	





Quotation 388589 Page 8 / 13 (cont'd)

yourNBS.com

Remit Payments to: NBS, 6973 Reliable Parkway, Chicago, IL 60686

Desc	ription		Quantity	Unit Price	Extended Price
25	KIMBALL OF Tag For	H110 MATH			
	rug r or	RD36CL			
26	LOCKFR - F	IELD INSTALLED LOCK PLUGS & KEYS, FR	5*	N/C	N/C
	Lock Finish:	Polished Chrome 9201 - POLISHED CHROME			
	Key: KEY SF	PECIFIC			
	5-335				
	STEELCASE				
	Tag For	H110 MATH			
	Total				18,864.41
	HIGAN 6% 1	ГАХ			1,131.86
Tota	ı				19,996.27
H11	2 FAN ROO	М			
27	With Casters Worksurface CLASSIC LIN	e Finish: Smith System Laminate 494360 - NEN LAMINATE	4*	765.00	3,060.00
	_	n Top w 3/8in Bmpr TMld			
	MOLD	: Smith System T-Mold CHP - CHAMPAGNE T Smith System Paint CHL - CHARCOAL			
	_	Adjustable Height			
	SMITH SYST	-			
	Tag For	H112 FAN ROOM 24/60-EJ			
28	2221FT1MB. Armless Frame Inforr	USAR0 - Wit, Side, 4-leg, Mesh Back, Upholstered Seat,	8*	261.12	2,088.96
	FC2: Silver f				
	Glide/Caster				
		loor and Carpet Casters			
	Wit Mesh Ba				
	MC21: Nicke				
	Fabric or Le	ather Upholstery Selection:			
		bric Grade Selections			
	~: No Selec	tion			
	FG2: Fabri	c Grade 2			
	ELEMENT	: Element Standard Color Selection			
TITLE	OF PRODUCT TRANSFER	RS UPON RECEIPT BY CUSTOMER.			
ACC	EPTED BY	TITLE		DATE _	



2595 Bellingham • Troy, MI 48083 • 248.823.5400 3201 Pine Tree Rd. Ste. A • Lansing, MI 48911 • 517.886.0072 5160 Alliance Dr. • Bay City, MI 48706 • 989.895.8574 4 North St. Clair St. • Toledo, OH 43604 • 419.662.2040



Quotation 388589 Page 9 / 13 (cont'd)

\_\_\_\_ DATE \_\_\_

yourNBS.com

Remit Payments to: NBS, 6973 Reliable Parkway, Chicago, IL 60686

Desc	ription		Quantity	Unit Price	Extended Price
28	RUBY: El	ement Ruby			
	Package Sel				
	~: Std Packa				
	EXEMPLIS	39			
	Tag For	H112 FAN ROOM WIT			
29	front, 18D x 3	F - Cabinet-Storage, 2 adjustable shelves, Flush steel 36W x 40H 9 PLATINUM METALLIC	2*	840.84	1,681.68
	<b>LOCK</b> : 9201	POLISHED CHROME			
	KEYS: SK PI	LUG			
	TOP OPT: *C	OPT:TOP OPTIONS			
		TD:1" STEEL TOP			
	STEELCASE				
	Tag For	H112 FAN ROOM SC/40/36			
30	RATCL1872I steel front, 18	F - Top-Common, Square edge profile, Laminate, Flush BD x 72W	1*	227.48	227.48
	(HPL)	Finish: PLASTIC LAMINATE 2HCN - CLAY NOCE			
		: PLASTIC 6709 - CLAY NOCE			
	STEELCASE				
	Tag For	H112 FAN ROOM CT/18/72			
31	LOCKFR - F	IELD INSTALLED LOCK PLUGS & KEYS, FR	2*	N/C	N/C
	Lock Finish:	Polished Chrome 9201 - POLISHED CHROME			
	Key: KEY SF	PECIFIC			
	2-350				
	STEELCASE				
	Tag For	H112 FAN ROOM			
Sub 1	Γotal				7,058.12
MIC	HIGAN 6% 1	ΓΑΧ			423.49
Tota	l				7,481.61
H13	7 ENGLISH				
32	With Casters Worksurface CLASSIC LIN	emental Table 24" Depth X 60" Width Nest and Fold,  e Finish: Smith System Laminate 494360 -  NEN LAMINATE  n Top w 3/8in Bmpr TMld	10*	765.00	7,650.00
TITLE	OF PRODUCT TRANSFER	RS UPON RECEIPT BY CUSTOMER.			
	DTED BY	TITLE		D.475	

\_\_\_\_\_\_ TITLE \_\_



2595 Bellingham • Troy, MI 48083 • 248.823.5400 3201 Pine Tree Rd. Ste. A • Lansing, MI 48911 • 517.886.0072 5160 Alliance Dr. • Bay City, MI 48706 • 989.895.8574 4 North St. Clair St. • Toledo, OH 43604 • 419.662.2040



Quotation 388589 Page 10 / 13 (cont'd)

\_\_\_\_\_ DATE \_\_\_

yourNBS.com

Remit Payments to: NBS, 6973 Reliable Parkway, Chicago, IL 60686

Desci	ription		Quantity	Unit Price	Extended Price
32	Edge Finish:	Smith System T-Mold CHP - CHAMPAGNE T			
	Leg Finish: S	mith System Paint CHL - CHARCOAL			
	_	djustable Height			
	SMITH SYST Tag For	H137 ENGLISH 24/60-EJ			
33	2221FT1MB.U Armless Frame Inform	ISAR0 - Wit, Side, 4-leg, Mesh Back, Upholstered Seat, ation:	20*	261.12	5,222.40
	FC2: Silver Fr	rame			
	Glide/Caster S	Selecton:			
	CS6: Hard Flo	oor and Carpet Casters			
	Wit Mesh Bac	k Colors:			
	MC21: Nickel				
	Fabric or Lea	ther Upholstery Selection:			
	FABRIC: Fab	ric Grade Selections			
	~: No Selecti	on			
	FG2: Fabric	Grade 2			
	ELEMENT:	Element Standard Color Selection			
	RUBY: Ele	ment Ruby			
	Package Sele	ction:			
	~: Std Packag	ging			
	EXEMPLIS				
	Tag For	H137 ENGLISH WIT			
34	front, 24D x 36	- Cabinet-Storage, 2 adjustable shelves, Flush steel SW x 40H PLATINUM METALLIC	6*	893.02	5,358.12
	LOCK: 9201 F	POLISHED CHROME			
	KEYS: SK PL	JG			
	TOP OPT: *OF	PT:TOP OPTIONS			
	STL TOP: ST	D:1" STEEL TOP			
	STEELCASE Tag For	H137 ENGLISH SC/40/36			
35	front, 24D x 36	- Cabinet-Storage, 4 adjustable shelves, Flush steel 3W x 65 1/2H PLATINUM METALLIC	6*	1,104.34	6,626.04
TITLE C	OF PRODUCT TRANSFERS	UPON RECEIPT BY CUSTOMER.			

\_\_\_\_\_ TITLE \_



2595 Bellingham • Troy, MI 48083 • 248.823.5400 3201 Pine Tree Rd. Ste. A • Lansing, MI 48911 • 517.886.0072 5160 Alliance Dr. • Bay City, MI 48706 • 989.895.8574 4 North St. Clair St. • Toledo, OH 43604 • 419.662.2040



**Quotation 388589** Page 11 / 13 (cont'd)

\_\_\_\_\_ DATE \_\_

yourNBS.com

Remit Payments to: NBS, 6973 Reliable Parkway, Chicago, IL 60686

Descr	ription		Quantity	Unit Price	Extended Price
35	LOCK: 9201 F	POLISHED CHROME			
	KEYS: SK PL	UG			
	TOP OPT: *O	PT:TOP OPTIONS			
	STL TOP: ST	TD:1" STEEL TOP			
	STEELCASE				
	Tag For	H137 ENGLISH SC/65-1/2/36			
36	Flush steel fro	<b>F</b> - Top-Common, Square edge profile, Laminate, ont, 23 1/8D x 108W	2*	516.70	1,033.40
	(HPL)	Finish: PLASTIC LAMINATE 2HCN - CLAY NOCE			
	•	PLASTIC 6709 - CLAY NOCE			
	STEELCASE	LIAOZ ENOLIOLI			
	Tag For	H137 ENGLISH CT/23/108			
37	<b>TS31402</b> - Jei	nny; Chair, 2 arms	1*	979.97	979.97
	UPHLSTRY:	BR26 IRON			
	LEG OPT: *O	PT:LEG OPTIONS			
	PLASTIC: ST	TD:BLACK PLASTIC LEGS			
	STEELCASE				
	Tag For	H137 ENGLISH JENNY			
38	<b>TS31409</b> - Jei	nny; Chair-Round	3*	1,115.85	3,347.55
	Upholstery F	inish: BRISA BR26 - IRON			
	Leg: ALUMIN	UM LEGS			
	STEELCASE				
	Tag For	H137 ENGLISH JENNY			
39	N66RD22CL	- WHIMSY,22DIA ROUND,MOBILE,LAMINATE TOP	1*	757.47	757.47
	LAMINATE:				
	<b>G1009</b> : WHIT	ΓΕ NEBBIA			
	UPHOLSTER	Y GRADE:			
	CFSF: CF ST	TINSON GRADE F			
	<b>DIDI_73</b> : DIE	DI CARBON			
	KIMBALL OF				
	Tag For	H137 ENGLISH N66RD22CL			
40	N66RD36CL	- WHIMSY,36DIA ROUND,MOBILE,LAMINATE TOP	1*	1,003.10	1,003.10
	LAMINATE:				
TITLE C	DF PRODUCT TRANSFERS	S UPON RECEIPT BY CUSTOMER.			

\_\_\_\_\_\_ TITLE \_



2595 Bellingham • Troy, MI 48083 • 248.823.5400 3201 Pine Tree Rd. Ste. A • Lansing, MI 48911 • 517.886.0072 5160 Alliance Dr. • Bay City, MI 48706 • 989.895.8574 4 North St. Clair St. • Toledo, OH 43604 • 419.662.2040



Quotation 388589 Page 12 / 13 (cont'd)

\_\_\_\_\_ DATE \_\_\_\_

yourNBS.com

Remit Payments to: NBS, 6973 Reliable Parkway, Chicago, IL 60686

Description			Quantity	Unit Price	Extended Price
40	<b>G1009</b> : WHIT	TE NEBBIA			
	UPHOLSTER	Y GRADE:			
	CFSF: CF ST	TINSON GRADE F			
	DIDI_73: DIDI CARBON				
	KIMBALL OF				
	Tag For	H137 ENGLISH RD36CL			
41	Depth x 36" W	ruck-Six Sloping Shelf, With Six Book Supports, 18" /idth x 43" Height Smith System Paint NV - NAVY	3*	459.00	1,377.00
	Divider Finisl	h: Smith System Plastic BLACK - BLACK			
	SMITH SYST				
	Tag For	H137 ENGLISH ST/6SS-D			
42	LOCKFR - FIELD INSTALLED LOCK PLUGS & KEYS, FR Lock Finish: Polished Chrome 9201 - POLISHED CHROME		12*	N/C	N/C
	Key: KEY SPECIFIC				
	12-305				
	STEELCASE				
	Tag For	H137 ENGLISH			
Sub -	Total				33,355.05
MIC Tota	MICHIGAN 6% TAX				2,001.30 <b>35,356.3</b> 5
43		NION STRAIGHT TIME LABOR TO RECEIVE, DELIVER NEW PRODUCT PER PRINT.	1	11,630.00	11,630.00
	ALL WORK TO BE DONE AT ONE TIME.				
	PRICING DOES NOT INCLUDE THE REMOVAL OR RELOCATION OF EXISTING PRODUCT.				
	3-4 DAYS NE ROSE MOVIN	EDED FOR INSTALLATION.			
45	MONTHLY - MONTHLY STORAGE FEE 3 MONTHS OF STORAGE HAS BEEN QUOTED STORAGE IS NOT PRORATED ROSE MOVIN		3	1,055.00	3,165.00
Quo	tation Totals				
Sub <sup>-</sup>	Total				113,262.06
	BALL OF Ta	_			297.10
SMI	TH SYST Ta	riff Charge			754.16

\_\_\_\_\_ TITLE \_\_\_





Quotation 388589 Page 13 / 13 (cont'd)

yourNBS.com

Remit Payments to: NBS, 6973 Reliable Parkway, Chicago, IL 60686

EXEMPLIS Tariff Charge	423.78
SMITH SYST FREIGHT	3,161.00
STEELCASE COM FABRIC	616.00
STEELCASE COM FABRIC	866.00
STEELCASE Surcharge	1,767.55
MICHIGAN 6% TAX	5,908.02
Grand Total	127,055.67

**End of Quotation** 

TITLE OF PRODUCT TRANSFERS UPON RECEIPT BY CUSTOMER.

ACCEPTED BY \_\_\_\_\_\_ TITLE \_\_\_\_\_ DATE \_\_\_\_\_